S B AR RE

TEME HEHE ET)

ERk294E12H 8H  BHAL 3,088,000
T = 4 ERAE THE (B RIRH5FHR2 TG R)
T = % AT “JEHRIERT B
NFLAE F F—FEAFLE ;- = [A] P B X34 T ANFLE K4
IR IR AHE
VEALYE 3,080,000 (R)aRFn B
TEALAAES 3,326,400 M TEALE =R 2-17-7 BRI IREEE (EEB 2 )

(HEHZET)

VAR BA 7

2,711,000 M




S B AR RE

TEME EEHE £T)

ERk294E12H 8H  BHAL 2,802,000
T = 4 ERAME THE (HE R 1295811 516 3)
T = % AT “JEMRIEET B
NFLAE F 5 —E AFL& s [E] = [A] P 5 34 ANFLE K4
VEALPYE 2,800,000 (PR A< HE
PEFLATRE 3,024,000 M TERLE =R/ INMREAT5432 i (K FRAmEE (EEBLE £T)
(HEHZET) R ASHE 2,436,000




S B AR RE

TEME HEHE ET)

ERk294E12H 8H  BHAL 4,119,000
T = 4 ERmE THE (E LR )I1348)
T = % AT =N PN
NFLAE F 5 —E AFL& s [E] & = [a] P 5 34 ANFLE K4
<L VEFLIRE 3,980,000 HRH AR
<t 3,980,000 (R)aRFn B
3,999,000 WIER T3
PEFLATRE 4,298,400 M TERLE =R/ INMREAT5432 wARHIBRmAS CEERE £T)
(HEHZET) R ASHE 3,588,000 [




